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9. ln Fisher's equation ...
a.P
C.V

10, Governmeot budgetary policy during inflatiqn should aim at.

a. Increasing expenditure b. decreasing expenditure

b. Lowering taxes d. increase in investment

Q 2. Answer the following (AnY 2)

t. what is inflation and what are the measules to control inflation.

2. What are tiquidity preference theory of interest

3. Factors affecting consumption function,

(20 Marks)

Q 3. Answer the following - (AnY 2)

1. What are the circular flow of two sector economy

2. What are the causes inflation
3. What are the features of national income

(20 Marks)

Q 4. Answer the following (Any 2) (20 Mayks)

1. Explain the money market ancl LM curvc

2. What are the assumption and exception of multiplier.
3. What are the impact of changes in demarrd for money and supply for money?

Q 5. Answer the following (Any 2) (20 Marks)

1. Discuss the reievance of Keynesian theory of developing economies.

2. What are the leakages in the working of multiplier?

3. What are the constituent of money supply

4. What are the different phases of the tradc cycle?

is exogenously determined.

b.T
d.M


